-

|

P sl

GRASS

\X\
|

EXISTING AUSGRID INFRASTRUCTURE

T

"_C_l_ POLE 2700
-4 DESIGNED ENCLOS
2 T
>,
— 3 -
m - SEPERATED CHARGING
e CABLE
w o e
O \ \m V/ -
)
PARKING AREA
. THIS DRAWING IS THE PROPERTY OF JOLT
MAIN STREET: PARK ST ISSUE | DESCRIPTION DATE | DRAWN | THIS DRAVING 15 THE PROPERTY OF JOL NORTHERN BEACHES COUNCIL
CROSS ST: PITTWATER RD A DRAFT FOR REVIEW | 3/12/20 | IC PART OR IN WHOLE WITHOUT
OUTSIDE/OPP: MONA VALE HALL @ JOVLT s DA ISSUE 4/12/20 | AG AUTHORISATION PARK ST, MONA VALE
SUBURB: MONA VALE JOLT CHARGE PTY LTD DATE SCALE SITE NO. REVISION
KNOWN AS: PI-I—I-WATER PARK LEVEL 24, 3000 BARANGAROO AVE, SYDNEY NSW2000 4/12/20 175 16388 B




/ / N
SIGN
EXISTING A/U&GRID INFRASTRUCTURE
DESIGNED ENCLOSURE
AL
o
v
&
’0)
/i/ /
. THIS DRAWING IS THE PROPERTY OF JOLT
MAIN STREET: BUNGAN ST ISSUE | DESCRIPTION DATE DRAWN | THB DRAWING 5 THE PROPERTY OF JOL NORTHERN BEACHES COUNCIL
CROSS ST: PITTWATER RD A DRAFT FOR REVIEW | 3/12/20 | JC PART OR IN WHOLE WITHOUT
OUTSIDE/OPP: 7 BUNGAN ST @ JOVLT s DA ISSUE 4/12/20 | AG AUTHORISATION BUNGAN ST, MONA VALE
SUBURB: MONA VALE JOLT CHARGE PTY LTD DATE SCALE SITE NO. REVISION
KNOWN AS: BUNGAN PITTWATER HEVEL 24, 300 BARANGARQD AVE, SYDIEY NSW2000 4/12/20 1:75 16460 B




1 P 3 5 6 7 8
. 3643 O/A _
. 3540 _
o i 'TET
2189 O/A 2090
il fp
. .

82 GROUND CLEARANCE

ISOMETRIC VIEWS (NTS)

M12 BLIND BOLT BRACKETS

BOLT BRACKET TO TO TRANSFORMER

STRUCTURAL FRAME

SECTION D-D

N i Q™ A ORIGINAL ISSUE MB 01/06/2020
— S e
REV DESCRIPTION DRAWN DATE
DETAIL E
SCALE1:5 SUITE 7, 17 THURLOW ST REDFERN 2016
NOTES: t. 9698 7770 www.vertdesign.com.au
1. FUNCTIONAL DIMENSIONS SHOWN ONLY. REFER TO 3D CAD FILE T e 3 ——
FOR ALL OTHER DIMENSIONS &/ OR DRAFT DO NOT SCALE DRAWING @—GTHIRD ANGLE PROJECTION | ISSUED FOR:
2. 'LP. INDICATES ONE OR BOTH POINTS OF DIMENSION TAKEN AT <TTCE CUENT REFERENCE
THEORETICAL INTERSECTION POINT OF 2 LINES JOLT GRILL GENERAL ASSEMBLY JOLT |:|
3. 'O/A'INDICATES OVERALL DIMENSION MATERIAL  cEE B ART DRAWINGS T JOLT-PG I:IPRODUCTION
4. ALL DIMENSIONS IN mm
FINISH-COLOUR PART No. QUOTATION
5 TOLERANCE UNLESS SPECIFIED OTHERWISE: ONLY
NEAR SEE PART DRAWINGS JOLT-PG-GA-01 CLIENT
£0.1
ANGULAR 0.5 APPROVAL
6. PARTSTO BE FREE FROM SCRATCHES & DAMAGE MODEL REVISION DRAW'NGAR\EV'S'ON ASSEMBLY SCALE |:| PROTOTYPE
7. ALLSURFACES TO BE SMOOTH, CLEAN & FREE OF ANY IMPERFECTIONS SeAWN [DATE STEET JOLT-PG-GA-01 1:50| AP PRELIMINARY
MB | 11/06/2020 1 OF3 TOOLING
1 c 3 0 6 7/ 8




1 c 3 4 d 6 / 8

ITEMNO. |  PART NUMBER DESCRIPTION eraol/
1 transfer cabinet AUSGRID KIOSK ]
2 jolt-pg-st_a01_revA STRUCTURE SUB-ASSEMBLY ]

jolt_pg_cast
3 brackel revB TRANSFORMER MOUNT BRACKET 10
B18.22M - Plain
4 washer, 12 mm, 40
regular
B18.2.4.2M - Hex
5 nut, Style 2, M12 x 10
1.75 --D-N
B18.2.3.5M - Hex
6 bolt M12x 1.75 X 10
100 --30N
B18.2.3.5M - Hex
7 pbolt M12x 1.75x 55 NOTE: USE BLIND BOLT 20
--30N
jol-pg- ]
8 drb. 01 _revA BLANK DOOR SUB-ASSEMBLY 2
jolt-pg- _
9 arm.a01 _revA METER DOOR SUB-ASSEMBLY ]
jolF-pg- ]
10 blb. Q01 _revA BLANK BAY SUB-ASSEMBLY ]
jolt-pg- i}
11 chb_sub01 revA CHARGE BAY SUB-ASSEMBLY ]
12 jolt-pg-rf_a01_revA ROOF SUB-ASSEMBLY 1
13 DRI-34 DETENT PIN 4
14 jolt-pg- EQUIPMENT SHELF SUB- ]
EQ a0l _revA ASSEMBLY
15 jolt-pg-scr_a01_revA SCREEN SUB-ASSEMBLY [
Jolt-pg- i}
16 scs Q01 revA SCREEN FRAME SUB-ASSEMBLY ]
17 jolt-pg- SCREEN FRAME SUB-ASSEMBLY 1
scs_a0l1_revA (OPPOSITE SIDE)
NOTES:
1. FUNCTIONAL DIMENSIONS SHOWN ONLY. REFER TO 3D CAD FILE
FOR ALL OTHER DIMENSIONS &/ OR DRAFT
2. '.P." INDICATES ONE OR BOTH POINTS OF DIMENSION TAKEN AT
THEORETICAL INTERSECTION POINT OF 2 LINES
3. 'O/A" INDICATES OVERALL DIMENSION
4, ALL DIMENSIONS IN mm
5. TOLERANCE UNLESS SPECIFIED OTHERWISE:
LINEAR 0.1
ANGULAR+0.5
6. PARTS TO BE FREE FROM SCRATCHES & DAMAGE
7. ALL SURFACES TO BE SMOQOTH, CLEAN & FREE OF ANY IMPERFECTIONS
A ORIGINAL ISSUE MB 01/06/2020
REV DESCRIPTION DRAWN DATE

SUITE 7, 17 THURLOW ST REDFERN 2014
t: 9698 7770 www.vertdesign.com.au

DO NOT SCALE DRAWING @—GTHIRD ANGLE PROJECTION | ISSUED FOR:
ME " JOLT GRILL GENERAL ASSEMBLY ~ [CLENT - j)| T [ |REFERENCE
ESPLODED VIEW (NTS) ‘ MATERIAL  cEE B ART DRAWINGS T JOLT-PG DPRODUCTlON
a e FINISH-COLOUR PARTNG. X |QUOTATION
X JONLY
SEE PART DRAWINGS JOLT-PG-GA-0] CLENT
APPROVAL
MODEL REVISION DRAWING}:EVISION ASSEMBLY SCALE I:I PROTOTYPE
DRAWN | DATE SHEET JOLT-PG-GA-O1 1:30| AC PRELIMINARY
MB 11/06/2020, 2 OF 3 TOOLING

1 & 3 4 d 6 7 8




5712 EXTENDED FOOTPRINT

. Y
T TR _II:I '__-___-T-u,__:_L___ :
R i N 4779
/2 S I/_/_:JI,II::I‘:‘:‘:?-_‘:‘:.“:‘:‘:‘:‘:‘:‘:‘: EXTENDED IZOOTPRlNT | I i I | 2660 ISOMETRIC VIEW (NT3)
__. : — s 4 i 4
S I Il
: - | . . . .
USE OF DETENT PIN Y _ B _ I _
DETAIL G TO SECURE ROOF STRUCTURE
SCALE1:5
. 4476 _
— — — — |.|.| 20 — *% |.|J ————L_H' | | _H-J————
B - < L .B = | | &
i "iii iii i i TN
i b L ©
di i i Hast sk
el AT
o iz e = | : I} (‘\‘ H : i i i
Jo Ly Rl
SHe=r= == K :I !‘\-‘—.—ﬂ—.———’#-‘;‘"fi'{'-—i—l'fl'l"iﬁ\
SF;)RING gL(L)JNSGERSl% UgED Tg S e ———— e A ORIGINAL ISSUE MB 01/06/2020
HOLD D RS AT 90° SWING RADI N\ =
Y il I J REV DESCRIPTION DRAWN DATE
\_|
/ SUITE 7, 17 THURLOW ST REDFERN 2016
NOTES: t: 9698 7770 www.vertdesign.com.au
1. FUNCTIONAL DIMENSIONS SHOWN ONLY. REFER TO 3D CAD FILE
FOR ALL OTHER DIMENSIONS &/ OR DRAFT DO NOT SCALE DRAWING @—GTHIRD ANGLE PROJECTION | ISSUED FOR:
& %FTE&%%%XEN?SR%EoleTFOOI:lr'—I!’g?I)\Il,T\‘TOSF%FLII:l)\VéENSDN TARENAT TITLE JOLT GRILL GENERAL ASSEMBLY CLIENT JOLT I:IREFERENCE
3. 'O/A' INDICATES OVERALL DIMENSION MATERIAL SEE PART DRAWINGS PROJECT JOLT-PG I:IPRODUCTION
4. ALL DIMENSIONS IN mm
FINISH-COLOUR PART No. QUOTATION
5. TOLERANCE UNLESS SPECIFIED OTHERWISE: ONLY
NEARsO1 DETAIL F SEE PART DRAWINGS JOLT-PG-GA-01 CLENT
ANGULAR £0.5 SCALE1:3 APPROVAL
6. PARTS TO BE FREE FROM SCRATCHES & DAMAGE MODEL REVISION DRAW'NGAR\EV'S'ON ASSEMBLY SCALE |:| PROTOTYPE
7. ALL SURFACES TO BE SMOOTH, CLEAN & FREE OF ANY IMPERFECTIONS SRAWN : DATE SHEET JOLT-PG-GA-01 1:50 AP PRELIMINARY
MB 11/06/20200 3 OF 3 TOOLING

1 & 3 4 d 6 7 8




1 c 3 4 O 6 / 8
SECURE CATCH PLATE
WITH FASTENERS N
ASSEMBLED DUCTING ATTACH COVER PLATE & TRIM ﬂqg
FOR AIR FLOW PLATE WITH FASTENERS N
DETAIL F :
SCALE1:5 | | S
4 | | f
DETAIL G R |
194 1338 - o8 SCALE1:5 - .
DETAIL D — -
SCALE1:5 ¢ 0N U5
i) I T JT_TI T} [ixe
243 O/A S ISOMETRIC VIEWS (NTS)
SECTION E-E CONNECT HINGE PLATES
WITH NUT & BOLT
J C H
51 - ™ Ul u
4>I—<— = q/
L | | A i =3
o [ - - 4- - ! [)
| : = e E DETAIL |
896 | | | o SCALE1:5
| I | I %E | %E
]! q: | : ™ |
- 1946 O/A @% |5 A
. . . SCREEN CONNECTED
| | TO CHANNELS WITH
| | . M10 FASTENERS
: | = I ﬂ /
. -- -t -- , o
X I I Y I ; . 2
J C H
— — —
SECTION C-C SECTION J-J SECTION H-H
. 1419 O/A _
SECURE PADLOCK HANDLE
WITH M8 CUP HEAD BOLTS
2 T n 1k [£: | A | ORIGINAL ISSUE MB | 01/06/2020
REV DESCRIPTION DRAWN | DATE
o u%
NOTES : tSU9I£I‘E;87,717775HURLOW ?lcrj RE.DFERN 2016
: . www.veridesign.com.au
1. FUNCTIONAL DIMENSIONS SHOWN ONLY. REFER TO 3D CAD FILE
FOR AL OTHER DIMENSIONS &/ OR DRAFT DO NOT SCALE DRAWING @) THIRD ANGLE PROJECTION | ISSUED FOR:
I i e SCALET ¢ 3 T SCREEN SUB-ASSEMBLY | JOLT [Jeeresence
j. ZT_A;:TAE:\Z/;ENSS?NVERALL DIMENSION MATERIAL Z|NCALUME STEEL PROJECT JOLT‘PG I:I PRODUCTION
5. TOLERANCE UNLESS SPECIFIED OTHERWISE: FlNlTDHé)Cvsg%LIJQRCOAT PARTRe: gﬁLOYTATION
M sLACK orss oo
ANGULAR 0.5 APPROVAL
6. PARTS TO BE FREE FROM SCRATCHES & DAMAGE MODEL REVISION DRAWING AR\EV'S'ON ASSEMBLY SCALE I:I PROTOTYPE
7. ALL SURFACES TO BE SMOQTH, CLEAN & FREE OF ANY IMPERFECTIONS DRAWN DATE SHEET JOLT_PG_GA_O] ‘| 20 A 8 PRELIMINARY
MB 11/06/20200 1 OF 2 TOOLING
1 c 3 4 O 6 / 8




v

NOTES:

1.

FUNCTIONAL DIMENSIONS SHOWN ONLY. REFER TO 3D CAD FILE

EXPLODED VIEW (NTS)

ITEM NO.

PART NUMBER

DESCRIPTION

Defauli/
QTY.

LG screen block

LG AD SCREEN *FREE ISSUE ITEM*

jolt-pg-scr-p01_revA

SCR STRUCTURAL CHANNEL

jolt-pg-scr-p03_revA

SCR DUCTING

jolt-pg-scr-p02_revA

SCR TOP PLATE

jolt-pg-scr-p04_revA

SCR TRIM CHANNEL

N — | N NN —

jolt-pg-scr-p05_revA

SCR COVER PLATE

BH2132 door holder

STOCK PART
(www.indrub.com.au)

jolt_pg_hng-
pP02_revA

HINGE PLATE TYPE A

N | OO | N [ONO WIS —

jolt_pg_hng-
pPO3_revA

HINGE PLATE TYPE A

o

jolt_pg_pad-
PO1_revA

PADLOCK HANDLE

11

jolt-pg-scr-p04_revA

SCR TRIM CHANNEL WITH
PADLOCK HOLES

12

B18.22M - Plain
washer, 10 mm,
regular

12

13

B18.3.4M -6 x 1.0x
12 SBHCS --N

32

14

B18.3.AM-6x 1.0x
20 SBHCS --N

15

B18.2.4.2M - Hex
nut, Style 2, M10 x
1.5, with 16mm WAF
--D-N

16

B18.2.3.5M - Hex
bolt M10x 1.5 x 45 --

17

26N
B18.3.5M-10x 1.5x
35 Socket FCHS --

18

35N
B18.3.4M -6 x 1.0x
25 SBHCS --N

19

B18.2.4.2M - Hex
nut, Style 2, Mé6x 1 -
-D-N

20

B18.2.4.2M - Hex
nut, Style 2, M8 x
1.25 --D-N

21

AS-NZS 1390 S - M8 x
20-N

A ORIGINAL ISSUE

MB

01/06/2020

REV

DESCRIPTION DRAWN

DATE

SUITE 7, 17 THURLOW ST REDFERN 2014
t: 9698 7770 www.vertdesign.com.au

FOR ALL OTHER DIMENSIONS &/ OR DRAFT DO NOT SCALE DRAWING @—GTHIRD ANGLE PROJECTION | ISSUED FOR:
2. '.P." INDICATES ONE OR BOTH POINTS OF DIMENSION TAKEN AT
THEORETICAL INTERSECTION POINT OF 2 LINES TITLE SCREEN SUB-ASSEMBLY CLIENT JOLT I:IREFERENCE
3. 'O/A'INDICATES OVERALL DIMENSION MATERIAL 1\ (C ALUME STEEL PROJECT 1OLT-PG |:| PRODUCTION
4, ALL DIMENSIONS IN mm
FINISH-COLOUR PART No. QUOTATION
5, TOLERANCE UNLESS SPECIFIED OTHERWISE: POWDERCOAT ONLY
INEAR 0. DULUX ARMOURSPRAY JOLT-PG-SCR-SUB-01 CLIENT
ANGULAR 0.5 SATIN BLACK 91090245 APPROVAL
6. PARTS TO BE FREE FROM SCRATCHES & DAMAGE MODEL REVISION DRAWING AR\EV'S'ON ASSEMBLY SCALE |:| PROTOTYPE
7. ALL SURFACES TO BE SMOOTH, CLEAN & FREE OF ANY IMPERFECTIONS SRAWN - SATE SHEET JOLT-PG-GA-01 1:15 AP PRELIMINARY
MB 11/06/2020 2 OF 2 TOOLING

1 & 3 4 d 6 7 8




	Appendix 2b - Elevation Details jolt-pg-GA01_revA_PAN-55820.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Section View D-D
	Detail View E (1 : 5)

	Sheet2
	Drawing View9
	Detail View C (1 : 8)

	Sheet3
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Detail View F (1 : 3)
	Drawing View20
	Detail View G (1 : 5)


	Plans - Screen details.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Section View C-C
	Detail View D (1 : 5)
	Section View E-E
	Detail View F (1 : 5)
	Detail View G (1 : 5)
	Section View H-H
	Detail View I (1 : 5)
	Section View J-J
	Detail View L (1 : 3)

	Sheet2
	Drawing View9
	Detail View M (2 : 15)



